Name Block _ My test is on:
Unit 5: Systems of Equations Review Sheet HONORS

For exercises #1-2, you may only use each method once.
1. Solve the following system of equations usin'g the appropriate method.

(39

—2x + 15
Circle your method:  Substitution Elimination

2. Solve the following system of equations using the appropriate method.
(“L{‘_]) +5x+2y——6 X=-4% .
! 3x- 2y = —26 SEW+HEY =

=~
IX=-3Q =30 +eﬁ1

e, Y =]
Circle your method:  Substitution K @') raphmg

i

3. Which of the following points would be a solution for the system of inequalities? )

2 @X+5 > =10 | %‘?' ), \\
y<Z-x+5 B SO TN
y 3x Y ’”‘17{\ e //'L | ./}\ _\\
2x+5y=-10 5\! AX-10 1 5 w/’%w XK >\ ’

\E;“& 5 g{;{ AR € RV %/
A (=3,-7) S . L
B. (=8, 1) / X & | \1\\ % /.
D. (8,—10) |

4. Solve the following system of equations to find the value of y.

e J o Y DY RAY
N="¢ -,(S; Yoy e ) %L{«Hm?}j* 434
“57‘7'" L\-SU)

Circle your method:  Substitution Graphmg
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. Solve the following system of equations using the appropriate method.
R T
y = x4+ -n--(g >/ —
— a X + & 3 kY
3

= —32x+3y=6 3N= "—AX+Y
Circle your method:  Substitution Elimination "3#“
6. What is the éolutilon to the s&stem of equations below? =) 3 5 b ey L&“O = q 0
7)&‘1“2“‘8(’%2 :m?)g =3 L‘5<7x+8y =.38\) 35K+ \!:—_&Sq
jy\_}fﬁ‘%“‘-{_@u% (Q'l 8) <5x+9y=37 _gg _ __U)q )
B = RN
7. Which point is NOT a solutioin to the system of inequalities below? A3 S o
Q’;x~>/é.o_ yé:&x =3
N QY 2x-y20 TN TN
‘Cg X /\ . : 7 et
c -—\/ i—&% Ix+y<5 . }/ ; y N \\
5 YOkt AR
) e \ b N

A. (1,-6) @ oM
do++HJd,

B. (1,-2) D. (3,=7) Iy

8. Aregion is defined by the system:
dx —y < -2
6x+ 2y <-10

In which quadrants of the coordinate plane is
the region located? L’—X‘“" - "'c:a
S S 0

A, LILII on — £ NS

C. Ill and IV only

D. 1IL I, and IV \// > YA ' A1
WY iy &= 10 |
~0x ~Ux v

AN £« —X=10 \j,.ém...wx“é“
QT 9 Q
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9. Given the system of equations below, what is the solution?

IOX—I“LI‘O‘\‘:SO 5((2x+8y=6)
OX+40Y=30 (T gopy J6r+20r=3)
10. inen the system of equations below: | y GX_"q = — Bq
* Ko )efﬂ?%i
3 fx + y? X=3(4)=-13 10N =-0Y
é}(*kﬁ:(%} | CX-IQ=13 — =y
| = =Yy
11. Given the system of equations below: ,

CRETIR L axe56)=84

at is the value of x + y? —N= 4 GX‘HU:@&
o AlE 3%=14

X =
12. What is the value of y for the system of equations below? L}-

AX+3EA=AN=Y  w+ay=s N=5(8)~47

2>

X+ 15X |= msem Iy=35-07 (§=-4
K1‘1><--<31=-L}L}ﬂ><;__‘_8§ ! '

—— —
—

3x + 6y = 27 Gx—}-my::ér’
)

el x+2=11) Sx\‘}“_u) 33
1O 801
| 14. __Which system of e uations has exactly one solution?

.y =x-1land 2x - 3yv=?1>

S NS Y,

B. y=4x—\1_6and4x—y=—5 - L}"mez:_?}”x‘ 6(1(??’19&} —
\ QP(UW

13. Solve the system of equations below.

{1

el NN
C. x+ 3y = 5and éx + 18y = 30 Ll,/{

U)CX*'B%:S‘) %fﬂ—F S oN==4x=5

I
ST
WRHIB=80 S0l = yxts

%
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15. A system of equations is shown below.
3x-y =5

x-2y = -9
Which operations on the system of equations could be used to eliminate the x variable?

A. Divide the first equation by 3 and add the result to the first equation
B. Divide the first equation by —2 and add the result to the first equation

Multiply the second equation by 2 and add the result to the first equation_
D. Multiply the second equation by —3 and add the result to the first equat’m’li‘)

16. Your science class has eight assessments. Tests are worth 100 points, and quizzgs are worth 50

points. There were 500 points possible in the quarter. Which graph below represents the number
of tests and quizzes you had last quarter?

-~

$ehrke

X=UGTS Xﬂ:% =AY
j-::clunzws mOM-SO\/:: 500
~100X ' '-100x

S0y= = 100X+ 500

N
S0 8080 y=—AXH
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17. Which system of inequalities is represented by the graph below?

ry<~—~2x
c.

b

[y>-x

< -2x

For exercises 18-23, define the variables, write the system of equations, and clearly
identify your solution.
ﬁ‘

18. A collection of dimes and nickels is worth $3.15. There are 39 coins in all. How many dimes and

nickels are there? AHN=39 —— j_ -X+89 =94
X=dimus  oxb.05y=0.15 Jox+.05C
N=THORUIE €307 imod > 10 %=, \,,.~>(\+1,95 \3,15
& TIGKDIS -00X=1.90

19. Ann invested $12,000 i1 nts. One of the accounts pays 6% annual interest, and the |
other account pays 5% annual interest. If the combined interest earned in both accounts after 2 |
year was $700, how much money was invested in each account? o O

X= 0% M i 19,000 — = —X+1Q,000 )
=5%mt .00x O\Jg 00 . 0UX+.05CEXHII000)=T00
3 mvostud Ol X~ »OSX+U00=1T00

20.Tickets to the fashion show are $4.50 for adults and $2.50 for students. The total sales we ef\/—\’\ﬂd
$608.50 for 185 tlckets How many adults and student attended the fashion show? l I “‘“Udﬂ'ﬁtﬁ

A=0dulhs - Aty=1 1.0+ SOy =38Q.90 (73 gy 14
j STHudunts Sox—hg QO‘V“‘D(R{{ 50 “r SOX+ . 5O0N=1007.50
j«&&% =11Q

o C— ]
__18

X=10,000

74221 000

21. The sum of two numbers is 36. The sum of t
the GREATER nu?ber K+EN=3 W

K= STQNLR 4 X4y =19
\E \QR%‘»LR k2 :5) I

22. A tennis coach took his team out for lunch and bought 8 hamburgers and 5 fries for $24. The

players were still hungry so the coach bought 6 more hamburgers and 2 more fries for $16.60.
How much would@mburger and 1 order of fries cosD K +7 X=q.50
¥

¥=buRgeRs  DXHEV=GY — 2y it 10y =1 (9.50) +5y=
}““Fmtuu U)H&/ 000" B0x+0Y= 13 QO‘Fojme
— Y%= *3F SIS

?—’“w
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23.You are planning a huge graduation party for your son. You decide to offer both a beef and a
chicken meal at the party. The chicken dish costs $5, and the beef dish cost $7. There will be 250

people at the party, and the total cost of the food is $1500. How many chicken meals will there be?
How many beef meals will there be?

X=Chiokun dist
N= buy+ digh

=500

5X+77 ik
<

X

A

24.In order to save money for prom this weekend, Tom is going to walk his neighbor’s dog for $6 per
hour and wash cars for $7.50 per hour. His mother told him he can work no more than 15 hours in
order to keep up with his homework. If Tom would like to make at least $75 to cover prom
expenses, help him determine combinations of hours he can work between these two jobs.

L Write and graph a system of linear
inequalities.

WYX+ LE0N > 15— E sMiO

X+Y__

ﬁﬁ*de

ii. Write two possible solutions.

do

Jd hre CHJH\NOSIHNx%C%hR&\m&Mnka““"“

q T
7 hrs car Woehina + 1) hes doa watkim
3 g W 1 q

¢
g2
e
=D

“ETWU\NQHﬂﬂﬁ

= CQR \NQ\ahl‘ﬂﬁ
\Y do N

)QLRQ
hOUR@

%grmﬂhl

P . ] o

= 72 _
v /M% i

Yol s
p rd
N1 TS # -
. g e ff«'
. : b osshondl -
\ > " -
3 \Liiﬂ, A /...

ffmw%NQSHWﬁksﬂﬁw

25. A fitness club needs to buy 30 treadmills and has planned on spending $45,000. Twd models are

available; one costs $1,100, and the other costs $2,100. What is a system of inequalities that
represents this situation?

Y= Tmody) +hat

COSTE JQD

Tﬂ@d%l%%gﬂ
COSts $4100

=

[ 1100x+ 2100y 2 45,000
'M-ym 30
x<0

- o

1100x + 2100y < 45,000

{x+y=30

xzQ

pz 9

[ 1100x + 2100y < 45,000

xz0

y20

[ 1100x+ 2100y = 45,000

x50

y< A




